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Choose the correct choice and write your answer in the table below

I) How many phosphate ions are present in 3.01 x 1023 formula units of Cus(PO4)?

(A) 2 ions (B) 3 ions ((C)6.02 x10% fons (D) 1.2 x10* ions

2) A gas sample contains 16.0 g of CHs and 16.0 gof O2. What is the total number of moles 169 - | e

of the gas in the sample? Cwy G- = | nd

(A) 0.500 mol (B) 15.0 mol @1.1_50 mol D) 1.00mol . 169 — o5md
2. T .

3) How many moles of chloride ions are present in a 66.7g sample of AICI;? ¢ 1 o RECTg X —Leeel BTy

(A) 1.0 mol (B) 1.33 mol (C) 2.0 mol (D) 1.5 mol 643 9

el .L._ .

4) How many oxygen atoms are there in 22.0 g of CO,? | B \ wel AlC J

(A) 142 X]024 atoms ( 2 ) {‘,\ 5 x ) \ \/\/\kl\\ \ L & ,. ¢ e \ \_ 7’\’ _L:_‘_;._ Zf ;‘L:; P j:_ "\\-L"" .

(B6.02 x10%* atoms T u4900n \ el (0, ¥ vl

(C) 1.20 x10** atoms
(D) 5.09 x10% atoms

5) The empirical formula for an oxide of nitrogen that is 30.4% by mass nitrogen is
(A)NO (B)NO; (©)N20 (D) NO;

- e
6) A compound has an empirical formula of C2H4O. An independent analysis gave a
of 132 g for its molar mass. What is the molecular formula of the compound?

: vy \ weled” pads
(A) CsHsOs  (B) CioH 2 (C) C703 @)C6H1203 PO veled Wy .

- L4li -

7) Consider the following reaction:
3A +2B — A3B;
Which of the following is a correct interpretation of this equation?

[ 3 grams of A react with 2 grams of B to form 1 gram of A3B,.
Il. 3 atoms of A react with 2 atoms of B to form I molecule of A3B, .
[II. 3 moles of A react with 2 moles of B to form 1 mole of A3B,.

(A) I only
(B) IT only
(C) Il only
f\(D)/[I and III

[§9]
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8) When the following equation is balanced, the coefficients from left to right are

CsHis + 0 — CO; + H,O

Eg)) 123 ;; =802 +ARHL0

(C)4, 4,32, 36 L o
((D)2,25,16,18 2 N +250, —2 16 (02 + 18 Nl
9 Ss(s) + 24F(g) — 8SF(g)

If you need 2.50 moles of SFs, you will need to use 75 me ;'Lt- y £

((A) 0.313 moles of Sg and 7.50 moles of F2

(B) 0.313 moles of Sg and 3.00 moles of F; 2.5 md S F

(C) 0.125 moles of Sgand 7.50 moles of F»
(D) 0.125 moles of Sg and 3.00 moles of F>

10) An element “X” combines with oxygen to form X0. If 13.4 g of this element combines ¥ —+( 7 —

with 7.8 g of O», therefore the molar mass of X is 1549 1§ )
(A) 83.5 g/mol @) 54.9 g/mol (C) 47.2 g/mol (D)37.5g/mol N 224 |m
I'1) The molar volume of a gas at STP is
@122.4 L (B)22.4 mL (2241, (D)448 L
12) The volume occupied by 88.02 g of CO> at 6.54 atm and 75 °C is
(A)B74x10°mL o, o oy o NKRT (20 082\ ¥ 348t T
(B) 1.88 x 10°mL P | £5 y
(C) 8.74 x 10 mL ¢ Q.02 4 = § 30y L
(D) 8.74 mL A s
N —— = & S _
13) The combustion of butane (C4H1p) is shown in the equation below /”, ﬁ\i
\ i b 8 :
2C:Hio + 130, — 8CO; + 10H.0 \ g
What is the volume of O, required for the é'c()”mplelg\combustion of 12.9 L of C4H) at constant- (.~ (
temperature and pressure? - — 7‘\1 12X 129
(A) 0.99 L (B) 1.01 L (C)1.98 L (D)83.85 L il
[4) The pressure of a mixture of Na, CO2, and O is 150 kPa. If the partial pressures of Nz / ¢ —([0C
> 26 Kfn

and CO; are 100 kPa and 24 kPa , respectively, the partial pressure of O in this gaseous

mixtures is
(A) 26.0 atm

(B)2.60x 10" atm (C) 2.74 x 10%atm

(D) 2.63 x 10%atm |

15) H2 gas generated when Ca metal reacts with water. If the volume of H; gas collected at
25 °C and pressure of 988 mmHg is 461 mL, what is the mass of the H» gas obtained? (The

pressure of water vapor at 25 °C is 23.76 mmHg)?
(A)9.6 x 10 g (B)3.3x102g (C)6.7x10%g

(Dy4.78x 107 g
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